——ADSMEREICEHLE LI

RRATEARLY F
PRESSURE SWITCHES WITH GAUGE

PS30

Compatible with
EMC directive

<

s o REMBER
%>y
o A -\ (. INTERNAL STRUCTUREE jD @
c € marking —

o

7 W 8
Part name Material
EASS VR a—Y
.ﬁ E FEATURES ® Pressure transducer P-2000
® —fZE[FiEs. FERHBRIRICKRE Qo7 JwRIL
® KE! - BHERE LED IC & BE5L\BE s S s
E \ — K +707h— 2] i W
@ 8 FERDAA Y FHENE—F @ Pressure port Brass (Ni-plated)
@ FEFE—RICKBENBENL @| ==
Base ABS
@ Optimum for pneumatic equipment and semiconductor ® g;:sﬁg (Acrylonitrile-butadiene-styrene)
manufacturing equipment < =
NIV — UTZXF)V
@ Larger size display and high luminance LED for best @ paﬁe{ sfeeth ’j{pjowes{,)

visibility
@ Eight switch output modes
@ Low consumption by nondisplay mode

BRI RR

MODEL NUMBER DESIGNATION

PS30-102R-N

T 24 wFHAHDHAIX  Switch output interface

N I NPN 7 NPN open collector
P:PNPHAH PNP open collector

Z1)—X$ Series name

XEMES  Rated pressure range

102R : -100 ~ 100 kPa
103R : -0.1 MPa ~ 1.00 MPa

HE!s{—E LIST OF MODEL NUMBERS

o 7—R Gauge

Do\ ) | ~100 ~ 100 kPa | —100 ~ 1000 kPa
NPN PS30-102R-N PS30-103R-N
PNP PS30-102R-P PS30-103R-P

XKITEXICEL T, B —EBREIHERBIZSL,
Please refer to the LIST OF MODEL NUMBERS when placing orders.



PS30

PRESSURE SWITCHES WITH GAUGE

HiE#E{1+4% STANDARD SPECIFICATIONS

@ FRkSE. BERE 25 + 5°C. BRENEE 24 V DC THRELET.

Unless otherwise specified, the specs are defined at an ambient temperature of 25 £ 5 °C and excitation voltage of 24 V DC.

IH5# B Item B5{ Model number PS30
102R 103R
2 (387="75=)  Pressure reference 7'—IE Gauge
EMRESEE ~ Rated pressure range kPa -100 ~ 100 - 100 ~ 1000
BXKED Maximum pressure kPa 200 1500
o |BRES Break-down pressure kPa 500 2000
_E B)ESRESEFE ~ Operating temp. range °C -10 ~ 50
_E HERE Compensated temp. range °C 0-~50
% ‘§ SRESFIE Thermal error + 3 %F.S. (0 ~ 50 °C)
& > | EERE Operating humidity %RH 35 ~ 85 (#FE4ALVZ & No condensation)
! g RERE Storage temp. °C|-20~70 (KQE. BE 65 %RH AT Atmospheric pressure, humidity 65 %RH maximum)
S | EREEE Pressure medium IEBEEMSKIE  Non-corrosive gases
e HEfgKIn Insulation resistance MQminimum 100 (DC 500 V)
MEEE Dielectric strength 500 VAC,60s (U—2&E# 1 mALLT Leakage current 1 mA maximum)
FEAR— Pressure port M5 X%I, OUVDHE M5 female screw, “O” ring groove (P8)
8 2 Net weight g Approx. 60 (Zr—2)U 1.5 m BT  Including 1.5 m cable)
o § BRENEEIE Supply voltage vV DC 12~24V+10% (UwFILES  Including ripple voltage)
ke S | HEER Consumption current ~ mA maximum 40
RRFRT Display element LED (3132 1/2#7 2 and 1/2 digit)
2 > kPa -100 ~ 100 _—
[S % ERTRR Rated display range ViPa — T 010 <100
Wa s = Display accuracy +1 %F.S.
DHRRE Resolution 1 count
HO=E No. of outputs 2
HAHBEN Output interface F—7>3aL2% (NPN/PNP) Open collector output (NPN or PNP)
R E_ HHFRTR Display E 1 (SW1), 1772 (SW2) 6 LED A7) ONBICRAT Output 1 (SWH), Output 2 (SW2) Light on when outputis ON.
aHi[ % BRUBE Repeatability %F.S. + 0.3 maximum
Q) § = Switch hysteresis 0 ~ 30 counts (RIZ Adjustable)
\rz ‘% ZAVTFBRE Switching capacity 30 VDC 100 mA maximum #E#&{R:EHD Short-circuit protection
REBEE Residual voltage V maximum 1.2 V (NPN), 2.2 V (PNP)
S Response ms Approx 5, 25, 250 (RJZ Adjustable)

WISEE

ENVIRONMENTAL CHARACTERISTICS

HERIEHR Test item SHERZfFE Test conditions ZEEHE  Permissible change
&b Vibration 10 ~ 500 Hz, 98.1 m/s? or 1.5 mm P-P, 3 directions for 2 hours each

= o .

& = Shock 490 m/s? 3 directions for 3 times each Ei\i.%ﬁoféaaik D2 %FS. 1
FEAY A2 Pressure cycling 0 ~EMES 0 -~ Rated pressure. 10° cycles + 2 %F.S. maximum after test
(g Moisture resistance 40 °C, 90 ~ 95 %RH, 240 hrs.

1 EHFRRE. R4y FHOBMEROZHFIEZEEE

Change in the pressure indication, switch operating points.




PS30

PRESSURE SWITCHES WITH GAUGE

< N 3y,
-ﬂﬂ;ﬂ',ﬁ OUTLINE DIMENSIONS Unless otherwise specified, tolerance : + 0.5 (Unit : mm)
29
‘ ‘O UV
4 “O” ring groove
. I (P8)
PS30
o = 4 Wire color Connection
) i ol 2]7 1 ' Brown Power @
! Black Switch output 1
I
; P ‘ b (B85, Nist ) White Switch output 2
Housi ~N—ZR Base o }
) awronipn [] i, Blue | Common

| 4-core cable
} L =1500 +100 AWG26

B AEPESCIEE INTERNAL ELECTRICAL SCHEMATICS
@ NPN open collector @ PNP open collector

T T
I NAv BfEL ED Indicator | iy \%’ BfFLED  Indicator

% Power «
| ¢ o Power &) I K
| : =

7

Pressure 1

| S.Qutput1

£ EEH
oY Main circuit

Pressure @
5 =B T Ou -p' — S.Qutput2
mp | Y Ma‘”“““”ﬁﬁ { S.0utput2 Sensor #zF A
Load Load

| Common H Common
!
! E?Je indication I L EnER PressureindicationJ
| EPER Pesueidain | S ——
WRREZEEGTE SELECTION OF DISPLAY MULTIPLIER
N = AL ZZ A3 &
EROPHS, RREEERIRTSET, R (oo oo
Please refer to the right list. Selection
number |  ZONEER B FRfER FOREEE
(51) %ZH‘E‘E.‘IZ . ﬁﬁﬁﬁ%ﬁd:()‘%ﬁ#ii&@ﬁﬁ%t%@ - Dlsplay;m:ltlpller Dj':::y r:l;?)e Display multiplier | Display range
HSEIRTEFE A 1 ———
(Note) Diagonal column : No unit can be selected : .
. .. 2 X 0.75 75~ 75
due to resolution and number of digits.
3 X 0.01 -1.00 ~ 1.00 X 10 -1.0 ~ 10.0
4 X 0.145 -14.5 ~ 14.5 X 145 14 ~ 145
BX7vF+H7} SWITCH OUTPUT MODE
{7 Output SW 1 Sw 2 wXL— FE— R UA > RaALISL—RE— R
E—R Mod L=k |9 RV | =S — | 9AYRTIVNISL-S Separate mode Window comparator mode
(ol Separate Window comparator Separate Window comparator (HIH#E  HI operation) (ABIfE A operation)
EfE Operaion| HI LO A B HI LO A B oN | on ON
& 5 ? 8 O OFF | Piswi | Pasw2 Pl ‘OFF | *2
_§ 5 5 -Pr ‘<H_| ‘<H_| Pr -Pr |_H>‘ “T‘ Pr
R 2 3 O O (LOENE  LO operation) (BEHE B operation)
ON
w S| 4 o [®) W
[$]
- 2 ° o o © Q F’B;LOFF R R L e
-Pr 1 t Pr _pr 1 1 .
M 5 5 F e R S s
TR B LR 882 TR e LR 3E?2 P1=P2or P1=P2 P1=P2+2H
BRE 1 Sefting 1 | Lowerlimit: Setting 1 | 3% 1 Setting 1 | Lower limit: Setting 1 P1:8E1 Sefting1. P2: ®E2 Setting 2
T Note! | Upperlimit:Setingt | JE1 Note1 | Upperlimit: Setting 1 H:J5% Switch hysteresis
2 Note?2 2 Note2 =

CEx1) ©/SL—FE—RTIE. F|EL SWI., BEE SW2 BENZNWTELEELFE T .
(Note 1) In the Separte Mode, setting 1 corresponds to SW1, and Setting 2 corresponds to SW2.
Cx2) DAV ROAVNIRL—FE—RTIE, SWI1 & SW2 [ZHBD. THRIE GEE 1). LRE EE 2) TEMELFT.

(Note 2) In the Window Comparator Mode, the minimum value for SW1 and SW2 corresponds to Setting 1 and the maximum value corresponds to Settng 2.



PS30

PRESSURE SWITCHES WITH GAUGE

WP oYY —HT5ZE (BlSEm

HOW TO MOUNT OPTIONAL ACCESSORIES (Sold separately)
@ R—~JOwvUE1AE How to mount port block

® R—brTJOwZ Port block
31

15
4- 433 &ﬂ
o do_ ] |
&
EAF—-k
Pressure port
2-Rcl/8

ME BRI XA DI AyF
Material : Zink die-casting / nickel plate

EmEEIZ 2L (ACPG-001)

Rear panel mounting bracket
30 —1° o

1

$4.2x52 t LLAJ\M
£ Slot

E= ) [
Fixed

N

#E Material : SUS304
t=15

@ NXRIVIKIWSI—t v - RIVY—hN—Ev i (BI5E)

(“42.6)

@ NIV —tz v RIS E
How to mount panel holder cover set

JXFIVHRIVA—H/5— Panel holder cover
INZIVFRIVE — Panel holder

Ak Body (PS30)

FA— P S— by b Bft/¥% I Mounting panel
Holder cover set

. ) INFIVZ By N—21R
INRIVFILE—ty b Panel stopper 2 pcs.

Panel holder set

23.5

oy>7J (P8)
“0” ring
K—r7Ov Y
Port block
M3X10

® FmEEUIP D) (ACPG-002)
Panel mounting bracket

20

20

E

15

FxT (27%K)
Male screw (2 pcs.)

$4.2 Fixed

=

{ -
2
N
A A - {
T T T - . TI7777777777
#E  Material : SUS304 4.2x5.2 RN Slot
t=15
Panel mounting bracket (Option)
36 %’ ‘
IRV SR LDEE:1~3.6 mm)
Panel cut dimension (Panel board thickness : 1 ~ 3.6 mm)
o e - TR
Name 5 & Description N & Contents Applicable model
P )
ACPG001 R?an;i)rz&; :et BEZVIVROMI X 4 #2392 PG.30.PS30
p Rear panel bracket and M3 x 4 male screw (2 pes.)
TE 5]
ACPG-002 FEPVINAY b iﬁj YINRGNE X4 7772 PG-30-PS30
Panel bracket set
Panel bracket and M3 x 4 male screw (2 pcs.)
?_,‘J}_ll_sf;ogjé?,;;%é; ISRV —H1\= Panel holder cover | PG-30-PG-35
ACPG-003 Holder cover set o ATl oA Panel holder PG-75-PG-35H
(For protecting operating panel) JS%VARNY/S—218 Panel stopper (2 pcs) [PG-35L-PS30
RWI—HN—tv 0P
ACPG-004 (F—IDRIFEIRE) | /SRS —H/\~  Panel holder cover Sg_gggg_ggH
Holder cover set WIS~ Panel holder PG-35L-PS30
(For protecting operating panel)
R—bkJOvZ  Port block
~ R—k2JOvy “Q" YV *“0"ring (P8)
ACPG-005 Port block M3 X 104224 M3 x 10 Male screw 2 pes. PS30
=)%Y 118 Seal screw 1 pc.
PG-30-PG-35
ACPG-007 | BNVI—Awit=tyb | /SRNHIS— Panelholder PG-75-PG-35H

holder stopper set

JS%IVARY/S= 218 Panel stopper (2pcs.)

PG-35L-PS30






